FIEYY FL—FE S I —Ta—REREEFIE 552 R =7 D8

2024 &£ 9 A 16 B (A)

BERAEK RV TVF

R
[[:{ivs BEESA iR 79h | 4v |GROSS| HDCP | NET
B MIE ZEAL UGHR:2)1 40/ 36| /6 0.076.0
EEEB T BA A 2EERCC 39 39 /8 0.0//8.0
ML S —® SliigeCe 38/ 41) 79/ 0.0/79.0
A KW FE & HEGC 42/ 38/ 80 0.080.0
S 2R (& FEEILX 42) 38/ 80 0.080.0
66z *2[® I1EBA #RE3CC 38 42| 80 0.0/80.0
JRAREIY 7 ) JaoT= 39 44| 83 0.083.0
8 BERHE Ik E60 45 38| 83 0.0/83.0
O HE KRE $LLCC 43 40| 83 0.083.0
10 =HEA & $LLCC 44 39| 83 0.0/83.0
114 [ #5K 1E— &R EGC 39 45 84 0.084.0
1241 2 IE1T B%336C 42/ 42| 84 0.084.0
1362 KR 1E SiliCe 41 43, 84 0.084.0
146 #h#t EF RREMGC 43 42| 85 0.0/85.0
1545 AlfR EEK T4 T—= 45/ 40/ 85 0.085.0
164 |1/ F# A 2EERCC 42 43) 85 0.0/85.0
1746 58 EE ELRCC 421 44| 86 0.086.0
1841 [#5K EB REGC 46 42| 88 0.0/88.0
1961 ERE {EX ELRCC 43 45| 88 0.088.0
2060 \FEF BX B:86C 44| 45 89 0.0/89.0
2160 BRI %LF] R EFEGC 40/ 49| 89 0.089.0
2261 SN BUE UGl 48/ 42/ 90 0.090.0
231 fREE 1EIE CCCE7il L 43 47| 90 0.090.0
2441 | Tigx = CCCEFil L 44, 47 91 0.091.0
25 | KRIJR K1E CCC/NiE 49 42 91| 0.0/91.0
2645 |/NEH E£8H CCC/NiE 46/ 45| 91 0.091.0
210 | 2R H FEEILX 48/ 45| 93 0.093.0

P-1 O bL—tEU g T =D TILTEREE




